

ON THE INTEGRABILITY OF FUNCTIONS DEFINED BY COSINE SERIES WITH MONOTONE DECREASING COEFFICIENTS

CHAO-HUI YANG (Cincinnati, Ohio)

Let us consider the following trigonometric series with monotone decreasing coefficients $\lambda_n \downarrow 0$, $n \rightarrow \infty$,

$$f(x) = \frac{1}{2} \lambda_0 + \sum_{n=1}^{\infty} \lambda_n \cos nx, \quad g(x) = \sum_{n=1}^{\infty} \lambda_n \sin nx.$$

The functions defined by these series are continuous in $\delta \leq x \leq 2\pi - \delta$, for every $\delta > 0$, but are not necessarily L -integrable in $(0, \pi)$.

It is known, however, that, when $h(x) = f(x)$ or $g(x)$, we have the following theorem:

$$\eta(x) h(x) \in L(0, \pi) \text{ if and only if } \sum_{n=0}^{\infty} \frac{\lambda_n}{n} \eta\left(\frac{1}{n}\right) < \infty,$$

where $\eta(x) = x^{-r}$ or $x^{-r} L(1/x)$ ($L(x)$ being a slowly increasing function in the sense of Karamata [5]) $0 < r < 1$ when $h(x) = f(x)$; $0 \leq r < 2$ when $h(x) = g(x)$. (For $\eta(x) = x^{-r}$, see Boas [2], Heywood [4], Sunouchi [8], and Young [9]; for $\eta(x) = x^{-r} L(1/x)$, see Aljančić, Bojanić and Tomić [1] and Peyerimhoff [7].)

Instead of $\eta(x) = x^{-r}$ or $x^{-r} L(1/x)$, a more general $\eta(x)$ is considered in Peyerimhoff [7], namely, $\eta(x) \geq 0$ and $x \eta(x) \in L(0, \pi)$, and the following result is obtained:

$$\eta(x) g(x) \in L(0, \pi) \text{ if (I) } \dots \sum_{n=1}^{\infty} n \lambda_n \int_0^{1/n} x \eta(x) dx < \infty.$$

The converse also holds if we have some additional condition, *e. g.*,

$$(II) \dots \int_{1/n}^{\pi} \frac{\eta(x)}{x} \sin^2\left(n + \frac{1}{2}\right) \frac{1}{2} x dx \geq \varepsilon \int_{1/n}^{\pi} \frac{\eta(x)}{x} dx, \text{ for } \begin{matrix} \varepsilon > 0 \\ n > N. \end{matrix}$$

The condition (II) is satisfied in the following cases: For $x_0 \leq \frac{\pi}{\lambda}$ ($\lambda > 1$)

$$\eta(y) \leq \alpha \eta(x) \text{ for all } 0 < x \leq y \leq \lambda x, \quad x \leq x_0, \text{ or}$$

$$\eta(x) \leq \beta \eta(y) \text{ for all } 0 < x \leq y \leq \lambda x, \quad x \leq x_0.$$

In many cases, the condition (I) can be replaced by

$$(III) \quad \sum_{n=1}^{\infty} \frac{\lambda_n}{n} \eta\left(\frac{1}{n}\right) < \infty.$$

In the present work we shall establish parallel theorems concerning $f(x)$ as only the case of $g(x)$ is considered in Peyerimhoff [7]. We shall always assume the following conditions in this paper:

i) $\eta(x)$ is a non-negative and L -integrable function in $(0, \pi)$.

ii) $\{\lambda_n\}$ is a monotone decreasing sequence tending to zero.

$$iii) f(x) = \frac{1}{2} \lambda_0 + \sum_{n=1}^{\infty} \lambda_n \cos nx.$$

Summarizing, the following results are obtained:

THEOREM 1: If

$$(1) \quad \sum_{n=1}^{\infty} \lambda_n \int_0^{1/n} \eta(x) dx < \infty$$

then $\eta(x) f(x) \in L(0, \pi)$.

THEOREM 2: If $\eta(x) f(x) \in L(0, \pi)$ then

$$(2) \quad \int_t^{x_0} \frac{\eta(x)}{x} dx \leq C \eta(t) \quad (0 < t \leq x_0 \leq \pi, \quad C: \text{a constant})$$

implies (1).

THEOREM 3: If $\zeta(x)$ satisfies the following condition:

$$(3) \quad 0 < \zeta(y) \leq \lambda^s \zeta(x) \text{ for all } 0 < x \leq y \leq \lambda x, \quad x \leq x_0 \leq \pi/\lambda, \quad s > 0, \quad \lambda > 1.$$

then

$$(4) \quad \int_x^{x_0} \frac{\zeta(t) dt}{t^{1+s+\epsilon}} \geq C \frac{\zeta(x)}{x^{s+\epsilon}} \quad (C: a \text{ constant, } \epsilon > 0)$$

holds.

THEOREM 4: If $\eta(x)$ satisfies the following conditions:

- (5) a) $\eta(y) \leq \alpha \eta(x)$ for all $0 < x \leq y \leq \lambda x$, $x \leq x_0 \leq \pi/\lambda$, $\alpha > 0$, $\lambda > 1$,
 b) $\eta(x) \leq \beta \eta(y)$ for all $0 < x \leq y \leq \lambda x$, $x \leq x_0 \leq \pi/\lambda$, $\beta < \lambda$, $\lambda > 1$,

then the condition (1) is equivalent to the condition (III).

In Theorem 3, for $\zeta(x) = x^h \cdot L(1/x)$ ($h = s + \epsilon - r$, $s \geq r > \epsilon$), the condition (3) is satisfied since

$$\frac{\zeta(y)}{\zeta(x)} = \left(\frac{y}{x}\right)^h \frac{L(1/y)}{L(1/x)} \leq \lambda^h \cdot \frac{L(1/y)}{L(1/x)} < \lambda^s, \text{ as } x \rightarrow 0^* \quad (0 < x \leq y \leq \lambda x).$$

And if $\eta(x) = x^{-s-\epsilon} \zeta(x) = x^{-r} L(1/x)$ ($0 < r < 1$), then (2) holds because of (4). Moreover, for the above $\eta(x)$, the condition (5) is satisfied; it follows that we can derive the following theorem, from Theorems 1, 2, and 4:

$$x^{-r} L\left(\frac{1}{x}\right) f(x) \in L(0, \pi) \text{ holds, if and only if } \sum_{n=1}^{\infty} \frac{\lambda_n L(n)}{n^{1-r}} < \infty.$$

Therefore, our theorems include the previous result of Aljančić, Bojanić and Tomić [1].

To prove Theorem 1, we need the following:

LEMMA 1: If (1) holds, then

$$(6) \quad \sum_{n=1}^{\infty} n \Delta \lambda_n \int_0^{1/n} \eta(x) dx < \infty$$

and

$$(7) \quad \sum_{n=1}^{\infty} \Delta \lambda_n \int_{1/n}^{\pi} \frac{\eta(x)}{x} dx < \infty.$$

*) Since $\frac{L(1/y)}{L(1/x)} \simeq 1$, as $x \rightarrow 0$, for $0 < x \leq y \leq \lambda x$.

Proof: Let us consider the following identity:

$$(8) \quad \sum_{n=1}^N n a_n \cdot \Delta \lambda_n + \sum_{n=1}^N \Delta \lambda_n \cdot \sum_{v=1}^{n-1} v (a_v - a_{v+1}) = \sum_{v=1}^N a_v (\lambda_v - \lambda_{N+1}).$$

(8) is obtained directly from

$$n a_n + \sum_{v=1}^{n-1} v (a_v - a_{v+1}) = \sum_{v=1}^n a_v,$$

and

$$\sum_{n=1}^N \sum_{v=1}^n a_v \Delta \lambda_n = \sum_{v=1}^N a_v (\lambda_v - \lambda_{N+1}).$$

For $a_v = \int_0^{1/n} \eta(x) dx$, the right hand side of (8) remains bounded for $N \rightarrow \infty$ because of (1). It follows that both terms on the left hand side are finite since all the terms are positive; hence (6) holds. We also obtain:

$$\sum_{n=1}^{\infty} \Delta \lambda_n \cdot \sum_{v=1}^{n-1} v \cdot \int_0^{1/v} \eta(x) dx < \infty.$$

Since

$$\frac{1}{2} \int_0^{1/v} \frac{\eta(x)}{x} dx \leq v \cdot \int_0^{1/v} \eta(x) dx \leq \int_0^{1/v} \frac{\eta(x)}{x} dx \quad (v \geq 1),$$

we obtain

$$\sum_{n=1}^{\infty} \Delta \lambda_n \int_0^1 \frac{\eta(x)}{x} dx < \infty;$$

this implies (7) because $\eta(x)/x \in L(1, \pi)$.

We are, now, ready to prove Theorem 1.

Proof: Since

$$\begin{aligned} \int_0^{\pi} \eta(x) |f(x)| dx &\leq \int_0^{\pi} \eta(x) \left\{ \frac{1}{2} \Delta \lambda_0 + \sum_{n=1}^{\infty} \Delta \lambda_n \left| \frac{\sin(n+1/2)x}{2 \sin x/2} \right| \right\} dx \\ &\leq \frac{1}{2} \Delta \lambda_0 \int_0^{\pi} \eta(x) dx + \sum_{n=1}^{\infty} \Delta \lambda_n \int_0^{\pi} \eta(x) \left| \frac{\sin(n+1/2)x}{2 \sin x/2} \right| dx, \end{aligned}$$

it is sufficient to show

$$(9) \quad \sum_{n=1}^{\infty} \Delta \lambda_n \int_0^{\pi} \eta(x) \left| \frac{\sin(n+1/2)x}{2 \sin x/2} \right| dx < \infty,$$

and this follows from (6) and (7) since

$$\begin{aligned} & \sum_{n=1}^{\infty} \Delta \lambda_n \left\{ \int_0^{1/n} + \int_{1/n}^{\pi} \right\} \eta(x) \left| \frac{\sin(n+1/2)x}{2 \sin x/2} \right| dx \\ & \leq \sum_{n=1}^{\infty} (2n+1) \Delta \lambda_n \int_0^{1/n} \eta(x) dx + 2 \sum_{n=1}^{\infty} \Delta \lambda_n \int_{1/n}^{\pi} \frac{\eta(x)}{x} dx < \infty. \end{aligned}$$

To prove Theorem 2, let us first consider the following

LEMMA 2: If $f(x) \in L(0, \pi)$ and $F(x) = \int_0^x f(x) dx$, then

$$(10) \quad \frac{\eta(x)}{x} F(x) \in L(0, \pi)$$

implies (1).

Proof: Since $\eta(x) \in L(0, \pi)$, we have $\frac{\eta(x)}{x} F_1(x) \in L(0, \pi)$ for $F_1(x) = \int_0^x \eta(x) dx$. Writing $\mu_n = \lambda_n/n$ and applying Abel's transformation to $F_1(x)$ we obtain

$$F_1(x) = \sum_{n=1}^{\infty} \mu_n \sin nx = \sum_{n=1}^{\infty} \Delta \mu_n \frac{\sin^2(n+1/2)x/2}{\sin x/2} - \frac{1}{2} \mu_1 \tan \frac{1}{4} x.$$

We have $\frac{\eta(x)}{x} \tan x/4 \in L(0, \pi)$ since $x^{-1} \tan x/4$ is bounded in $(0, \pi)$, and

therefore we have $(F_1(x) + {}^{1/2}\mu_1 \tan x/4) \eta(x)/x \in L(0, \pi)$, i. e., (And since $\mu_n \downarrow 0, n \rightarrow \infty$.)

$$\int_0^\pi \sum_{n=1}^\infty \frac{\eta(x)}{x} \Delta\mu_n \frac{\sin^2(n+1/2)x/2}{\sin x/2} dx = \sum_{n=1}^\infty \Delta\mu_n \int_0^\pi \frac{\eta(x)}{x} \cdot \frac{\sin^2(n+1/2)x/2}{\sin x/2} dx < \infty.$$

Then, we obtain

$$\sum_{n=1}^\infty (n+1)^2 \Delta\mu_n \int_0^{1/n} \eta(x) dx < \infty$$

since

$$(n+1)^2 \int_0^{1/n} \eta(x) dx \leq 4 \int_0^{1/n} \frac{\eta(x)}{x} \cdot \frac{\sin^2(n+1/2)x/2}{\sin x/2} dx.$$

From $(n+1)^2 \Delta\mu_n = (n+1) \Delta\lambda_n + (1+1/n) \lambda_n$, we obtain

$$\sum_{n=1}^\infty \left(1 + \frac{1}{n}\right) \lambda_n \int_0^{1/n} \eta(x) dx < \infty;$$

hence (1) holds.

Proof: of Theorem 2 We assume $\eta(x) \neq 0$ almost everywhere in $(0, x_0)$; the proof is trivial otherwise. Then, we have from (2),

$$\eta(t) \geq \frac{1}{C} \int_t^{x_0} \frac{\eta(x)}{x} dx \geq \frac{1}{Cx_0} \int_t^{x_0} \eta(x) dx \geq \frac{1}{Cx_0} \int_\delta^{x_0} \eta(x) dx = \alpha > 0 \quad (t \leq \delta)$$

i. e., there exists $\alpha > 0$ such that $\eta(t) \geq \alpha$ for $0 < t \leq \delta$.

It follows that $\alpha |f(x)| \leq \eta(x) |f(x)| \in L(0, \delta)$; therefore, $f(x) \in L(0, \delta)$. Since $f(x)$ is bounded in (δ, π) , we have $f(x) \in L(0, \pi)$.

From $\eta(x) f(x) \in L(0, \pi)$, we obtain by (2)

$$\begin{aligned} \int_0^{x_0} |F(x)| \frac{\eta(x)}{x} dx &\leq \int_0^{x_0} \frac{\eta(x)}{x} dx \int_0^x |f(t)| dt = \int_0^{x_0} \int_t^{x_0} \frac{\eta(x)}{x} dx |f(t)| dt \\ &\leq C \int_0^{x_0} \eta(t) |f(t)| dt, \end{aligned}$$

i. e., $\frac{\eta(x)}{x} F(x) \in L(0, x_0)$ and since $\frac{\eta(x)}{x}$ is bounded in (x_0, π) , we obtain $\frac{\eta(x)}{x} F(x) \in L(0, \pi)$.

It follows that (1) holds from Lemma 2.

Proof of Theorem 3: Let $\lambda^n x \leq x_0 \leq \lambda^{n+1} x$, then we have for the constants C_i ($i=1, 2, 3, 4$) depending only on λ , s , and ε ,

$$\begin{aligned} \int_x^{x_0} \frac{\zeta(t) dt}{t^{1+s+\varepsilon}} &\leq \sum_{v=0}^n \int_{\lambda^v x}^{\lambda^{v+1} x} \frac{\zeta(t) dt}{t^{1+s+\varepsilon}} \\ &\leq C_1 \sum_{v=0}^n \zeta(\lambda^v x) \cdot \{1/(\lambda^v x)^{s+\varepsilon} - 1/(\lambda^{v+1} x)^{s+\varepsilon}\} \\ &\leq C_2 \sum_{v=0}^n \zeta(\lambda^v x)/(\lambda^v x)^{s+\varepsilon} \leq C_3 \left\{ \sum_{v=0}^n 1/\lambda^{\varepsilon v} \right\} \cdot \zeta(x)/x^{s+\varepsilon} \\ &\leq C_4 \zeta(x)/x^{s+\varepsilon}. \end{aligned}$$

If (5) a) holds and if $1/(n\lambda^{v+1}) \leq x \leq 1/(n\lambda^v)$ ($1/n \leq x_0$), then repeatedly applying (5) a), we get the following

$$\frac{1}{\alpha^{v+1}} \eta\left(\frac{1}{n}\right) \leq \eta(x).$$

And since

$$\int_0^{1/n} \eta(x) dx = \sum_{v=0}^{\infty} \int_{1/n\lambda^{v+1}}^{1/n\lambda^v} \eta(x) dx,$$

it follows that

$$(11) \quad A \eta\left(\frac{1}{n}\right) \frac{1}{n} \leq \int_0^{1/n} \eta(x) dx \quad \left(n > \frac{1}{x_0}\right)$$

where

$$A = (\lambda - 1) \cdot \sum_{v=1}^{\infty} (\alpha \lambda)^{-v}.$$

Similarly, from (5) b), we obtain

$$(12) \quad B \eta\left(\frac{1}{n}\right) \frac{1}{n} \geq \int_0^{1/n} \eta(x) dx \quad \left(n > \frac{1}{x_0}\right)$$

where

$$B = (\lambda - 1) \cdot \sum_{v=1}^{\infty} \left(\frac{\beta}{\lambda}\right)^v$$

Proof of Theorem 4: If (5) holds, then (11) and (12) hold for $n > 1/x_0$, i.e.,

$$\int_0^{1/n} \eta(x) dx \sim \frac{1}{n} \eta\left(\frac{1}{n}\right), \text{ as } n \rightarrow \infty.$$

Therefore the condition (1) and the condition (3) are equivalent since any finite sum of the series of (1) or of (III) is finite.

REFERENCES

- [1] S. Aljančić, R. Bojanić et M. Tomić. — Sur l'intégrabilité de certaines séries trigonométriques. *Publ. Inst. math. Acad. Serbe Sci.* **8** (1955), p. 67—84.
- [2] R. P. Boas Jr. — Integrability of trigonometric series. III. *Quart. J. Math., Oxford Ser. (2)* **3** (1952), p. 217—221.
- [3] G. H. Hardy and W. W. Rogosinski. — *Fourier Series*, Cambridge and New York, 1944.
- [4] P. Heywood. — On the integrability of functions defined by trigonometric series. *Quart. J. of Math., Oxford Ser. (2)* **5** (1954), p. 71—76.
- [5] J. Karamata. — Sur un mode de croissance régulière. *Bull. Soc. Math. France*, **LXI** (1933), p. 55—62.
- [6] J. Korevaar, T. V. Ardenne-Ehrenfest, and N. G. de Bruijn. — A note on slowly convergent oscillating functions. *Nieuw Archief voor Wiskunde*, **23** (1949), p. 77—86.
- [7] A. Peyerimhoff. — Über trigonometrische Reihen mit monoton fallenden Koeffizienten. *Archiv der Math.* (1958).
- [8] G. Sunouchi. — Integrability of trigonometric series. *J. Math. Tokyo* **1** (1953), p. 99—103.
- [9] W. H. Young. — On the Fourier series of bounded functions. *Proc. London Math. Soc.* **12** (1913), p. 41—70.
- [10] A. Zygmund. — *Trigonometric series*. Warszawa—Lwów, 1935.